
Math 303: Quiz f 1
Fall 2013

o Write )'our rrtune and Student ID nutlber in the space pr<ivided below arrd sigl.

Name, Last Name:

ID Number:

Signature:

o Y<m hare 35 minutes.

e You may usc an,v statement which ha.s been proven in cla.ss, except for the cases where v61 arc

a^sked to reproduce the proof of that statement.

r You may a'sk anv question about the quiz within the fir:st 5 rninutcs. Afterr this lime no question

will be answered.)
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2. Calculate the first two nonzero terrns in the T aylor series expansiol of lnr about r : I anti

use it to find an approximate value for ln(1.1). (8 points)
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3' Find tlrtr stationary poilts of the lirnction ,f (r,il: #!) + t:u3 + !J., 
* gy + 5 .'d cletcrrninr,r if

they are local minimum, rocal maximurn. or sacidro points. J'stify l,nur response. (14 points)
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